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QUESTION 1

-- Exhibit 

-- Exhibit -Refer to the exhibit. 

A failover has just occured on BIG-IP1. BIG-IP2 is now active and manages traffic as expected. Both Bigip\\'s are set
with a gateway failsafe to check the reachability of the main border router. 

Switches have performed as expected. 

Where should the LTM Specialist check for potential issues? 

A. Network Interface 2.1 of BIG-IP 2 
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B. Network Interface 2.1 of BIG-IP 1 

C. Network Interface 2.2 of BIG-IP 2 

D. Network Interface 2.2 of BIG-IP 1 

E. Network Interface 1.1 of BIG-IP 1 

F. Network Interface 1.1 of BIG-IP 2 

Correct Answer: B 

 

QUESTION 2

A web application sends information about message integrity and content life time to the client. Which two HTTP
headers should be used in sending the client information? (Choose two.) 

A. ETag 

B. Expect 

C. Expires 

D. Content-MD5 

E. Content-Range 

F. Content-Length 

Correct Answer: CD 

 

QUESTION 3

An HA pair of LTM devices configured in Active-Standby mode stops responding to traffic and causes an outage. The
Active device becomes Standby, but the partner device stays in Standby mode instead of taking over as Active. A
reboot and restart of the services brings the LTM device to Active mode for a short time, but then it goes into Standby
mode again. 

Which two configuration components caused this condition? (Choose two.) 

A. VLAN Fail-safe 

B. System Fail-safe 

C. Gateway Fail-safe 

D. Switch Board Failure 

E. Link down on Failover 

Latest 301B Dumps | 301B Study Guide | 301B Braindumps                                3 / 7

https://www.geekcert.com/301b.html
https://www.geekcert.com/301b.html
https://www.geekcert.com/301b.html


https://www.geekcert.com/301b.html
2024 Latest geekcert 301B PDF and VCE dumps Download

Correct Answer: AC 

 

QUESTION 4

A new web application is hosted at www.example.net, but some clients are still pointing to the legacy web application at
www.example.com. 

Which iRule will allow clients referencing www.example.com to access the new application? 

A. when HTTP_REQUEST { if {[HTTP::host] equals "www.example.*" }{ HTTP::redirect "http://www.example.net" } } 

B. when HTTP_REQUEST { if {[HTTP::host] equals "www.example.com" }{ HTTP::redirect "http://www.example.net" } } 

C. when HTTP_DATA { if {[HTTP::host] equals "www.example.*" }{ HTTP::redirect "http://www.example.net" } } 

D. when HTTP_RESPONSE { 

if {[HTTP::host] equals "www.example.com" }{ 

HTTP::redirect "http://www.example.net" } 

} 

Correct Answer: B 

 

QUESTION 5

-- Exhibit 
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-- Exhibit -

Refer to the exhibits. 
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An LTM Specialist has configured a virtual server to distribute connections to a pool of application servers and to offload
SSL processing. The application fails to work as expected when connecting to the virtual server. It does work when 

clients connect directly to the application. Two packet captures were taken at the application server. 

What is the root cause of the problem? 

A. The application servers are NOT listening on port 80. 

B. The LTM device is sending non-SSL traffic to an SSL port. 

C. The virtual server does NOT have a clientSSL profile assigned. 

D. The SSL handshake between the LTM device and the server is failing. 

Correct Answer: B 
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